11/17/21, 4:59 PM 609wdo 1

Question 1

Not yet answered
““irked out of 1.00

A={-6,-3,-1,1,6,7} LodGM3mM9dn gobbomymoo 3930930 3080M™MYd900: A1~ ,LbgoMmdo gMmoo*, Ax- 3000 myboo”, Az- ,303Yma00,
A4~ 6036030 MYB0o*“. Fomgob HMAgMo 3030 ™Mgd9000 MgRMIJLYH0?

Select one:
O a. Ay o Az

O b. A3 o A4
O ¢ Ay ©o A
O d. Ay o Ay

Question 2

Not yet answered
Marked out of 1.00

am3383@00 5066)03@3360 A={_250’1 13}5B={_451 ’312} (90 C={3’0’5} P(_21(355))1Q(_4’(_253))1M((313)5_2) @O N(1 5(_215))
69300m 900006 MmMAgmoo Bx(AXC) 9300 by bodMmogmol gemgdgbho?
Select one:

Oa N Q

O b. P,Q o M
Oc P Q
Od PQ o N
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Question 3

Not yet answered
Marked out of 1.00

dmEgdymoo A={-2,-1,0,1},B={-2,-1,0,1,3,4,8} Lodko3m9900 o A—B dbobggdo, goblbodmamymo §393mamy3obomo
HMMMI900m. OHMIYEM0o dom dm®molb Boado (0699300)7?

Select one:

O a. f(x)=x2+2x
O b, f(x)=x2-2x
O ¢ f(x)=x?

O d. f(x)=x2+3x

Question 4

Not yet answered
Marked out of 1.00

9m39d3moo (f, g) :RXR*—R? olobgo, boog f(x)=|x+2|-1, g(x)=logsx-2.
030390 (f,g)" (-1,-1).

Select one:
Oa. 0

O b. {(x2,4)}
O ¢ {(04)}
O d. {(-2,3)}
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Question 5

Not yet answered
Marked out of 1.00

50 bhIbHOED 35 LBogzMMOL 0bgamoby®mL, 20- 3gMadobymU, 8 LHYEIbHo 06 LEOZE ML oM ghmL 03 969o0EOb. ModEgbo
LHIEIOHO LBOZEMMBL MG03g 9bol?

Answer:

Question 6

Not yet answered
Marked out of 1.00

03m39m 03 MMb0dbo M0Ebggool MoMEYbMod, MMIJMMMO 9OMO 300MO ML, IgMEMY 396¢)0.

Answer:

Question 7

Not yet answered
Marked out of 1.00

G oMol (4,9) LOYMO 3MOR0. 03M39M .
Answer:
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Question 8

Not yet answered
Marked out of 1.00

93930604mxd0 12 3o6M0b3oE0 O 4 MR0EgIM0d. ModEgbo bgdbom dgodmmgdo 5 FoMobzoEolo Eo 2 maoEMobogob dgpagbomo
0d3ol godmymao?

Answer:
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Question 9

Not yet answered
Marked out of 1.00

dm3999m00 dMbodbymo gkhoxo

2,
V2

vy X3 Lk

03m39m 03 3gMox0l 0630YbHYGMMO0L doh®moo.

Select one:

Oa /1 1 0 1
1 1 0 1
0110
000 1

Ob 1 01 0
1 10 1
001 10
D00 1

O¢c 0 1 1 0
1 010
0 1 0 1
110 0

Od 01 0 0
1 1 0 1
01 10
00 1 0
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Question 10

Not yet answered
Marked out of 1.00

dmE9d9mo0 dohGmogo
o 1 0 1
/1 0 1 1
A=lo0 1 0 1
11 1 0

M ™M3gM0o0 0l IMb0dbymo 3Moxn, HMAMOL dmdoboggmool dohGmogo oMol A?

Select one:

O a. Ty E_'JE
T."l' 'T."q_

O b. Va g
[ 21

O C. FE g
7y Ty

O d.
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V2 g
7y Ty
Question 11
Not yet answered
Marked out of 1.00
dm3999mM00 gMoxon:

3 Va
) “ )
(5 Vg

03M390 Yoo BogMmdol 0d doMAH0go 3030l bogtMdg, MmAgmoi 069gos v 639MMEOD.

Select one:
Oa b5
Ob. 6
Oec 8
Od 7
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Question 12

Not yet answered
Marked out of 1.00

©oB9og0 dgmob f:X° — X @pbgsool obomodymo bobg, oy f = w1 (p1, w2 (p3, Cps))
Select one:
Oa x V T3 N\ Ty

( )
O bz A(z3V 5)
O¢ z1V(x3Axs)

( )

Od- 1 A $3\/x_5

« »
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